Integrated Math 2
ES 6: Practice Test

Name: Ke%' Date: Per:

) - Essential Skill Concept Category
ES 6: Solving Quadratic Equations
ES 5: Quadratic Functions

Show ALL your work. Be sure to circle/box your answers or write your final answers in the answer spaces. Explanations must

logical and easy to understand; your thinking needs to be clearly expressed on the paper. Round your answers to the nearest tenth,

unless otherwise specified. s\ X —PHx- %—)
1. Circle the equation that is written in(ntercept form. Gonvert it to standard form.
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2. Find the equation of a parabola that passes through point (3, 0) and has a vertex (1, 8) Leave your answer in intercept
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Integrated Math 2

3. Identify the a, h, and k. State the vertex, axis of symmetry, and range. Graph the function below.

y=-(x-2)*+3

Ver 4 Kt V= a (- Yt

2 Clte2)

- L o, -

axis of symmetry: ()c; 8

vertex: (52 [ 5)

range: <_OO j, 3_\
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Factor the following expressions
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5. Solve the following equations. Leave your answers in simplest radical form (NO DECIMALS OR ROUNDING)
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Integrated Math 2
6. Solve the equation by completing the square. Leave answer in simplest radical form.
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7. The product of 2 consecutive odd numbers is 255. Set up a quadratic equation to solve for the numbers.
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